XA 3 A A

T8 Ex =D

4
o

] 50:50 Non-Polarizing Beamsplitter 5
ea
Cube, 400 - 700 nm, 1°

50:50 Non-Polarizing Beamsplitter
Cube, 400 - 700 nm, 2°

Broadband Polarizing Beamsplitter
Cubes

Kinematic Prism Mount, 53.3 mm
Deep, M4 Taps

633 nm, f = 10.99 mm, NA = 0.25
SMA905 Fiber Collimation Pkg

6 Flip Mount Adapter, Metric ea 10

Mounted Step Variable ND Filter,
@4.5%, OD: 0.04-4.0

Unmounted Step Variable ND Filter,
@50 mm, OD: 0.04-3.0

©@1000 pum, 0.50 NA, SMA-SMA
Fiber Patch Cable, Low OH, 1 Meter

10 80 Grooves/mm, 12.7mm Sq, 1
ea
Transmission Grating Beamsplitter

11 M4 Setscrew and Hardware Kit ea 2
12 M6 Cap Screw and Hardware Kit ea 2
13 M6 Setscrew and Hardware Kit ea 1
AW Y
1l F8742
1. 50:50 Non-Polarizing Beamsplitter Cube, 400 - 700 nm, 1"
-Model : BS013

2. 50:50 Non-Polarizing Beamsplitter Cube, 400 - 700 nm, 2"
-Model : BS031

3. Broadband Polarizing Beamsplitter Cubes
-Model : PBS201

4. Kinematic Prism Mount, 53.3 mm Deep, M4 Taps
-Model : KM200PM/M

5. 633 nm, f = 10.99 mm, NA = 0.25 SMAS05 Fiber Collimation Pkg
-Model : F220SMA-B




6. Flip Mount Adapter, Metric
-Model : FM90/M

7. Mounted Step Variable ND Filter, @4.5", OD: 0.04-4.0
-Model : NDC-100S-4M

8. Unmounted Step Variable ND Filter, @50 mm, OD: 0.04-3.0
-Model : TED200C

9. 91000 pm, 0.50 NA, SMA-SMA Fiber Patch Cable, Low OH, 1 Meter
-Model : M59L01

10. 80 Grooves/mm, 12.7mm Sq, Transmission Grating Beamsplitter
-Model : #46-069
11. M4 Setscrew and Hardware Kit
-Model : HW-KIT3/M
12. M6 Cap Screw and Hardware Kit
-Model : HW-KIT2/M
13. M6 Setscrew and Hardware Kit
-Model : HW-KIT4/M

2. 71EtALRE
7h AAQIA - AR FRA FeglE 350-27 3DEAE 0] EEAAAN LA YAE 1065
. AL gAML 20l g Fstax 3E
o &S ALY Z FE 45 oy
2} Aefke] o]

D & qrAA el ik FA R s “AlefAL” 2 qthel T ke s o2
71#e] el wetop &t B A 5E3] HAEA G AR FRAFY F
o] 83 Ak Aol e

2) TF7BL ARG AR gk AgEs YAD = Jdom Ak o] tiste] A
Zow golsfiof ot

3) B JFAA BHAHEH RE X3S H AR

TASIH .2 E A3 7|&EsHA] &UAY T8
A7} AR R] G2 Aok = AR ZX|E FHshe]oF o}

H B FANNN 2T A% 2 B4 s Aok 99l mE reke Au A A2
o), Aok & o|F nesy] 97 A WA, BE 5L Fosor & A% Ak ng

o g A3},

5 A= FHste AFY de, F2 Sl e HFHA HAde Aot

1= =¥l
7F FE718  AlF T 4F oY)
U FASE 2o A4S AYATY (054-460-9092)




e v A o A

o

. (==) HOE A3 A&F 7|=X|dof] ZQst PBS FsF 4| 12F Luj
= 9
(F)
A
A Y| E2adsuz AuaAE &
o8 (2RI = 7|&AY SH)
°©° 30“& Analog HOE Screen 7]&A|Y
1. 2 v 52 tAEEZRl= A 243 A (A - SETHIRI=

Mul2AE 29)e 483 S S, B BES Fulsas) 3

TEIOHZH= Ar2AE &9 e T2 AHA 752 AT
TEIHIZH= AR|2AE 53 7Y 257 Ad 3 d8s Ad7E
ntEsky, ERIHIN = AR 2AHE =St T4 9 WA, AV
TAY FEIHIZN= AF7] AdS A7 E209 7edddd FEEHE
ZI9AE ARl =g B A 2Ae 5% ERY 9 F4JS B
S F83te o2& Azt 7HkE wldbskeE AFY Y

A oA 71 GADe 7 B 4
B/ /EEA #E 7)Y EEOREA = Ay g2aSgo] AFS
5

Non-Polarizing beamsplitter cube(400-700 nm), Non-Polarizing beamsplitter
cube(400-700 nm)+ FALEZHE ZFYE = WY W3PS Hsto Yt
= gos WRe ¥kl F 298 AESHEY 2o P 24

-

Visible beamsplitter= #°]# FHLe &% W< 505002 UFo] &%
= 7Y g 352 YR AET ¢ AEF =24 VM’ 3

A}

SMA905 fiber Collimation Pkg. = pigtail laser diode®] B3PS Y&
of & F Jdv FFA==IZ 7= 05 =FHAYE 1099 mm, NAs s
0.25%1 3gst &zt

ND FILTER= #°o1A o 39lE A A2 g2 349 #elAs
Gt AHEE o, JJE LAAT7] A8 A= BT &

1000um, 0.5 NAQ HWERE FAHGE dutaAl=E A8t F 922




vt Fazde Gie S5, ArEe FSA 7 A AR
7Pt s akd Fot 4z
- 80 grooves/mm<l FHEE JHAAE= Wo] YAEHU=
olsf Z} Agoz Ao HWiHom FHE F JIEF IR
Y. grooved| XtAo] 2HTFE 7o A&Vt JHutEr=

- ME ALY

1. 50:50 Non-Polarizing Beamsplitter Cube, 400 - 700 nm, 1"
-Model : BS013

2. 50:50 Non-Polarizing Beamsplitter Cube, 400 - 700 nm, 2"
-Model : BS031

3. Broadband Polarizing Beamsplitter Cubes
-Model : PBS201

4. Kinematic Prism Mount, 53.3 mm Deep, M4 Taps
-Model : KM200PM/M

5. 633 nm, f = 10.99 mm, NA = 0.25 SMAS05 Fiber Collimation Pkg
-Model : F220SMA-B

6. Flip Mount Adapter, Metric
-Model : FM90/M

7. Mounted Step Variable ND Filter, @4.5", OD: 0.04-4.0
-Model : NDC-100S-4M

8. Unmounted Step Variable ND Filter, @50 mm, OD: 0.04-3.0
-Model : TED200C

9. 1000 um, 0.50 NA, SMA-SMA Fiber Patch Cable, Low OH, 1 Meter
-Model : M59L01

10. 80 Grooves/mm, 12.7mm Sq, Transmission Grating Beamsplitter
-Model @ #46-069

11. M4 Setscrew and Hardware Kit
-Model : HW-KIT3/M

12. M6 Cap Screw and Hardware Kit
-Model : HW-KIT2/M

13. M6 Setscrew and Hardware Kit
-Model : HW-KIT4/M




